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import java.util.Scanner;
public class First{
public static void main(String[] args) {
Scanner input= new Scanner (System.in);
int Number; Number = input.nextInt();
switch (Number) {
case 1:;
System.out.println (" one™);
break;
case Z:;
System.out.println (" Two™) ;
break;
case 3:;
System.out.println (" Thre=");
break;
case 4:;
System.out.println(" Four™);
break;
case 5:;
System.out.println (" five™);
break;
default
System.out.println (" Error™);
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import java.util.Scanner;
public class First{
public static void main(String[] args) {
Scanner input= new Scanner (System.in);
char ch;
ch=input.next () .charaAt (0);
switch (ch) {
case '"H':;
System.out.println (" Red");
break;
case 'Y':;
System.ocut.println(” Yellow");
break;
case 'B':;
System.out.println(” Blus");
break;
case 'G':;
System.out.println(" Green");
break;
case "W':;
System.out.println (" white™);
break;
default :
System.out.println (" Error");

1}
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import java.util.Scanner;

public class First{

public static veid main(String[] args) {

Scanner input= new Scanner (System.in);
char ch; 1int x,y;
System.out.println( "==" );
¥=input.nextInt();
System.out.println( "v=" });
y=input.nextInt () ;
ch=input.next () .charaAt (0);
switch (ch)/{
case '"+':;
System.out.println( "Z="+ (x+y));
break;
case '—-':;
System.out.println( "Z="+ (x-y));

break;

case "*':1;
System. out.println( "Z="4+ (x*y));
break;

case '/':;
System. out.println( "Z="+ (x/vy));
brealk;

default

System. out.println(" Error™);
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import java.util.Scanner;

public class First{
, , , . , case "'G=':;
public static void main(String[] args){
, ) case "'qg':;
Scanner 1nput= new Scanner (System.in); ,
System.out.println (" Green");
char ch;

| break;
ch=1input.next () .charlAt(0);
switch (ch){

case 'H':;

case '"W':;
case 'w':;

System.out.println (" white");
case 'r':;

break;
System. out.println(" Red"); default
break; System.out.println(" Error");
case 'Y':; 1
case 'y':; }
System. out.println(" Yellow"); }

break;
case 'B':;
case 'b':;
System.out.println(" Blue");

break;
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switch (variable1 ) { // (e ) ddall s J¥) el ded jlaal
case value1:
switch (variable2 ){ // (alal dalal dya) G juiall dad jlsal
case value1 :
Statement1;
break;
case value2 :
Statementy;
break;

default:

Statement1;

RN/ PRE N RV
case value2 :
Statementy;
break;

default:

Statement;
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public class Javahpplicationél |
public static woid main(String[] args) |
Scanner input=new Scanner (System.inm);
String name; String H3C; String FCE; String PGE;
System. cut.println ("o itk il pol J£21™);
name=input.next();
Syatem. out.println("a., 51580 Folgd il le Jaomie allkil Ja™)7
HSC=input.next({);
switch (H3C) |
caze "yes":
System. cut.println("oewl= 0l pas; Jpa3ill gleiael olilbkil 30151 4a™)r
PCE=input.next{);
switch (PCE) |
case "yesz":
System. cut.println{"wsele 0l pad &8 Jpaie o ilhil™);
break;
case "no":
Syatem. out.println{™ Lodl je= 0l paiy Jeadil gleiel oldlbkil 3L5al 4e™)r
PGE=input.next{);
gwitch (BCE) |
case "yes":
Syatem.cur.printIn (" Lo dl ;e il pad 8 JpaFe o ilkbiI™);
break;
cage "no":
System. cut.println{"i. 080 8 o ilh il Jgad 55a04") 7
break;
default:
System.our.println("JLss¥1 3 Lks J15=");
'
default:
System. cut.println{"Jls.%1 & ks AL5a"):
kbreak;
h
break;
cage "no":
System. out.println (™. 180 &8 o ilh il Jpad 55a¥") 5
break;
default:
System. our.println("Jlss¥! _ & Lhs Jli="):
Pl
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public class Main {

public static void main(String[] args) {
int 1 = @;
switch (i) {

case 0:
int j

switch (j) {
case ©:
System.out.println("i is @, j is @8");
break;
case 1:
System.out.println("i is @, j is 1");
break;
default:
System.out.println("nested default casell™);

¥

break;
default:
System.out.println("No matching case found!!");
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